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Reasoning

Problem Sol

‘A shopsold 6 bottles of water for £2.89.
Each bottle was 1.5L.

She bought 27L of water. How much
money did she spend?

‘The flight from London to Alicante s
1465km the flight from Manchesteris
289%km longer.

How longisthe flight from Manchester to
Alicante?

Afamily of fourspent £1517.56 on a

Ifsplitequally, how much wouldit cost
each person?

Raisins are £1.45 fora packet.
I have £10 to spendonraisins.

Whatis the highest number of packets|
can buy?

These are being measured.

What unitof measurement should they
be measured in.

Explain why.

Glass of mi %
Walkingup 25 slepsy

The distance from Edinburgh to Cornwall
Annie is adding up these mass values:

kg + 343 + 700g

She does this calculation:

100

343
+700

1143

Explain her mistake.

Jamesis making buns for his friend's
birthday. He finds a recipe onthe
internetfor 20 peopl

The ingredients he needsare:
200g caster sugar

200g butter

Seggs

200 self-raising flour

2.5 baking powder

15ml milk

He onlywants to make 12.
Write the list of ingredients with the
amount e needs of each item.

Theselemonsandlimesare soldina
bagina local shop.

6 lemons

s20¢
£1.00

12 limes
» =
£2.40

Work out the price and weight of a
single lemon and asingle
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Barneyjumped 3,842 metresina long
jump competition.

Sophie jumped 1.319 metres further.
How far did Sophie jump?

Caroline took £20 to the shop.
She spent£8.64
How much change did she have?

Naomi and her friends completeda 30
‘mile walk for charity over3 days. On the
first day, they walked 12.87 miles, onthe
second day they walked 16.55 miles. How
many miles did they walk on the final day?

Mrs Smith buys 30 workbooks and 15
textbooks. She paid £82.50 forthe
workbooks. Each textbook cost 10 timesas
much as a workbook. What was the cost of
a textbook? How much did Mrs Smith
spendaltogether?

If 3.985 —1.999 = 1.986

Explain why these are true or false.
2.985 —0.999 = 0.986
4.985 —0.999 = 1.986

3.885 +2.099 =5.986

Explain how touse the column method to
workout whole numbers subtract
decimal numberse.g.

7-289=

Charges for a bag of sweets are 3p per
sweetand 15p fora bag.

If1 spent £3.75 on a bag of sweets, how
many sweets did 1 buy?

Explain yourstrategytoa partner.

Did they use the same strategy?
Whichis easier?

Kevinand Peterleave forworkfrom
the same house each day.
Kevintravels 11.36 milestoget to
work and Petertravels 10.29 miles
every morning except Monday and
Friday when he goesto his mum's
house on hisway.

This adds an extra 3.4 milesto his
journey.

Who travels the mostina week?
Jenny s 6.5k lighter than Caroline.
Bethis twice asheavyas Jenny.
The total mass of the three girlsis

146.3kg.
What s Jenny’s mass?

Tom bought 10 pencils and 11
rubbersfor£7.25.

The total cost of 1 pencil and 1
rubberwas 69p.

How much did 1 pencil cost?





